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Introduction
In RAN4#108 meeting, simulation assumptions for RedCap UE positioning with FH were discussed. In this paper, we will provide our simulation results on Redcap positioning with FH.
Discussion
Simulation parameters:
	Parameters 
	Values 

	Cell layout 
	Cell 1 200m to UE; Cell 2 300m to UE; Cell 3 400m to UE
Cell 1 is the reference cell

	Cyclic prefix
	Normal 

	DRX
	Off 

	Carrier frequency / BW / SCS / duplex mode
	· 2 GHz
· 15 kHz
· FDD

	Propagation conditions 
	AWGN

	Number of UE receive antennas
	1(only for FR1)

	UE measurement bandwidth in each hop
	15kHz=10MHz

	UE total measurement bandwidth after all hops
	15kHz=50MHz(6 hops)

	Number of overlapping PRBs between hops
	5

	Power boosting
	No power boosting

	PRS comb size
	4

	SCS
	15kHz

	RB num
	272

	Number of drop
	100

	SNR (dB)
	-10, -6, 0

	TOA estimation algorithm
	MUSIC algorithm



Simulation results:
1、Distance error with different SNR
	[image: SNR_-10_DIS]
Cell 2 300m to UE distance error with SNR=-10dB
	[image: SNR_-6_DIS]
Cell 2 300m to UE distance error with SNR=-6dB

	[image: SNR_0_DIS]
Cell 2 300m to UE distance error with SNR=0dB
	




2、 TOA error with different SNR
	[image: SNR_-10_TOA]
TOA error with SNR=-10dB
	[image: SNR_-6_TOA]
TOA error with SNR=-6dB
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TOA error with SNR=0dB
	



3、 RSTD error with different SNR
	[image: SNR_-10_RSTD]
RSTD error with SNR=-10dB
	[image: SNR_-6_RSTD]
RSTD error with SNR=-6dB
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RSTD error with SNR=0dB
	



Conclusion
In this paper we provided our simulation results for Redcap positioning with FH.
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